

St. Louis County, Minnesota



Date of Report: 7/7/2025 11:08:11 PM

			General De	tails						
Parcel ID:	400-0010-02	575								
Document:	Abstract - 79	Abstract - 794438								
Document Date:	07/07/2000									
		Le	gal Descriptio	on Details						
Plat Name:	INDUSTRIA	L								
Section	n T	ownship	ship Range			Lot	Block			
15		51		17		-		-		
escription:			DF SW1/4 OF SE1/4 EX WLY 400 FT & WLY 1020 F 5 FT OF NLY 665 FT OF SE1/4 OF SE1/4) FT OF SE1/4 OF	SE1/4 & WLY 7		
			Taxpayer De							
axpayer Name	NELSON GE	REG M & PATRI		otano						
nd Address:	7565 INDUS									
	SAGINAW M									
			Owner Det	ails						
Owner Name	NELSON GF	REG M								
Owner Name	NELSON PA	TRICIA A								
		Pay	able 2025 Tax	Summary						
	2025 - N	et Tax			\$1	,509.00				
	2025 - S	pecial Assessme	cial Assessments			\$85.00				
			tal Tax & Special Assessments \$1,594.00							
	2025 -		-			,554.00				
-	- W 15	Curre	nt Tax Due (as) I					
I	Due May 15		Due October 15			Total Due				
2025 - 1st Half Tax \$797		0 2025 - 2	2025 - 2nd Half Tax		97.00	2025 - 1st Half Tax Due		\$0.00		
2025 - 1st Half Tax Paid \$797.0		00 2025 - 2	2025 - 2nd Half Tax Paid		\$0.00		2025 - 2nd Half Tax Due			
2025 - 1st Half Due \$0		00 2025 - 2	2025 - 2nd Half Due		97.00	2025 - Total Due		\$797.00		
			Parcel Det	ails						
Property Address:	: 7565 INDUS	TRIAL RD, SAG								
School District:	2142	-								
ax Increment Dis										
Property/Homeste	ader: NELSON, P	ATRICIA A & GR	REG M							
		Assessme	ent Details (20	25 Payable	2026)					
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def L EM		Def Bldg EMV	Net Tax Capacity		
201 1 -	- Owner Homestead 00.00% total)	\$62,100	\$158,500	\$220,600	\$0		\$0	-		
	- Non Homestead			\$19,200	\$0	\$0 \$0		-		
111 0.	Total:	\$81,300	\$158,500	\$239,800		\$0 \$0		2131		



St. Louis County, Minnesota



Date of Report: 7/7/2025 11:08:11 PM

			Land D	etails				
Deeded Acres:	27.63							
Waterfront:	-							
Water Front Feet:	0.00							
Water Code & Desc:	W - DRILLED WELL							
Gas Code & Desc:								
Sewer Code & Desc:	- S - ON-SITE SANIT/							
		461 51 51 1						
Lot Width:	0.00							
Lot Depth:	0.00				• • • •			
The dimensions shown are r https://apps.stlouiscountymn	.gov/webPlatsIframe/frmF	PlatStatPop	Up.aspx. If the second	here are any ques	tions, please email PropertyTa	ax@stlouiscountymn.gov		
	Im	proveme	ent 1 Deta	ils (DBLWIDE	MH)			
Improvement Type	Year Built	Main Floor Ft ²		Gross Area Ft ²	Basement Finish	Style Code & Desc.		
MANUFACTURED HOME	2001	1,70	68	1,768	-	DBL - DBL WIDE		
Segment	Story	Width	Length	Area	Foundati	on		
BAS	0	26 68		1,768	FLOATING	SLAB		
DK	0	8 10		80	POST ON GR	ROUND		
Bath Count	Bedroom Count		Room C	ount	Fireplace Count	HVAC		
2.0 BATHS	3 BEDROOMS		-		- C8	AIR_COND, PROPANE		
	Im	aroveme	nt 2 Dotai	ils (DET GAR/				
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc		
GARAGE					Dasement Finish	DETACHED		
	0	1,472		1,472	- Foundati	-		
Segment	Story	Width Lengt			Foundati	Indation		
BAS	1	32	46	1,472	-			
	I	mprover	nent 3 De	tails (HANGA	R)			
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc		
POLE BUILDING	0	3,34	48	3,348	-	-		
Segment	Story	Width Length		Area	Foundati	on		
BAS	1	54 62		3,348	POST ON GR	ROUND		
		-		etails (OLD MI	•			
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.		
STORAGE BUILDING	0	57		576	-	-		
Segment	Story	Width	Length		Foundati			
BAS	1	12	48	576	POST ON GR	ROUND		
		Improve	ement 5 D	etails (Old Dg	3)			
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.		
STORAGE BUILDING	0	308		308	-	-		
Segment	Story	Width	Length	Area	Foundati	on		
BAS	1	22 14		308	FLOATING	-		
-		•		etails (Storage	•			
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc		
STORAGE BUILDING	0	14		144	-	-		
Segment	Story	Width	Length		Foundati			
BAS	1	18	8	144	POST ON GR	ROUND		







Date of Report: 7/7/2025 11:08:11 PM

		Improv	vement 7 D	Details	(Shed)					
Improvement Type Year Built		Main Flo	Main Floor Ft ²		Gross Area Ft ² Ba		Basement Finish		Style Code & Desc.	
STORAGE BUILDING 0		64	64		64				-	
Segmen	t Story	y Width	Length Area		Area	Foundation				
BAS 1		8	8	8 64		POST ON GROUND				
		Improvem	ent 8 Deta	ails (TR	RAIN CAR)					
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross A	rea Ft ²	Basement Fini	sh S	Style Co	de & Desc.	
STORAGE BUILDING 0		16	168		168		-		-	
Segment Story		y Width	Width Length		Area		Foundation			
BAS	BAS 1		8 21 168		168	POST ON GROUND				
	:	Sales Reported	to the St.	Louis	County Aud	litor				
Sale		Purchase Price			CRV Number					
07/		\$28,000				135676	5			
07/	/1997		\$26,00	00			117263	}		
		A	ssessmen	t Histo	ry					
Year	Class Code (Legend)	Land EMV	Bid EM		Total EMV	Def Land EMV	В	ef Idg MV	Net Tax Capacity	
	201	\$62,100	\$153,6	600	\$215,700	\$0	9	50	-	
2024 Payable 2025	111	\$19,200	\$0		\$19,200	\$0	9	50	-	
, i i	Total	\$81,300	\$153,0	600	\$234,900	\$0	\$	50	2,078.00	
	201	\$53,500	\$139,0	600	\$193,100	\$0	9	60	-	
2023 Payable 2024	111	\$16,100	\$0)	\$16,100	\$0	9	50	-	
	Total	\$69,600	\$139,	600	\$209,200	\$0	\$	50	1,893.00	
	201	\$41,000	\$165,	100	\$206,100	\$0	9	60	-	
2022 Payable 2023	111	\$13,900	\$0)	\$13,900	\$0	9	50	-	
.,	Total	\$54,900	\$165, ⁻	100	\$220,000	\$0	5	50	2,013.00	
2021 Payable 2022	201	\$41,000	\$143,2	200	\$184,200	\$0		50	-	
	111	\$13,900	\$0		\$13,900	\$0	9	50	-	
	Total	\$54,900	\$143,2	200	\$198,100	\$0	\$	50	1,774.00	
		٦	Fax Detail	Histor	y					
Tax Year	Тах	Special Assessments	Total Ta Specia Assessm	al	Taxable Land	Taxable I MV	e Building MV	Total 1	axable M\	
2024	\$1,603.00	\$85.00	\$1,688.	.00	\$64,097	\$12	\$125,242		\$189,339	
2023	\$1,823.00	\$85.00	\$1,908.	.00	\$51,182	\$15	\$150,127 \$2		01,309	
2022	\$1,773.00	\$85.00	\$1,858.	.00	\$50,301	\$12	27,137	\$1	77,438	







Date of Report: 7/7/2025 11:08:11 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.